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1.01 454 885,316,000 885,316,000 885,316,750
1. K H| S 3 A o] HF Y 873,096,000 873,096,000 873,097,550
1. SR SES A Y= 873,096,000 873,096,000 873,097,550
1.8t s| A= 873,096,000 873,096,000 873,097,550

g FH = = 546,493,000

SRR A Y= = 326,604,550
2. 71efol A 12,220,000 12,220,000 12,219,200
1.3t s] Al gre] 7S] 6,820,000 6,820,000 6,819,200
1.0h&shus] A [ ) 6,820,000 6,820,000 6,819,200

tEstu s AH Y = 6,819,200
2. W17ko] A4 5,400,000 5,400,000 5,400,000
1.7/ 9= 5,400,000 5,400,000 5,400,000

7EHA A = 5,400,000
2. 3454 374,956,000 374,956,000 374,967,080
1. 85 2 Rehql 368,449,000 368,449,000 368,462,680
LA T 368,449,000 368,449,000 368,462,680
1.52H] 179,137,000 179,137,000 179,135,440

w4 H| = 179,135,440
2.8 93k g ] 160,210,000 160,210,000 160,226,500

W3-8} &) = 160,226,500
3. AFAFTHn 16,975,000 16,975,000 16,974,150

A A A 5] = 16,974,150
4.4 ZE 8,172,000 8,172,000 8,172,000

AT A] 25 0] = 8,172,000
5. &9 4= 3,075,000 3,075,000 3,074,760

A= = 3,074,760
6.7 A H| 880,000 880,000 879,830

] 7g v = 879,830
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2. 3RS 5FY 6,507,000 6,507,000 6,504,400
LA BEDS4R 4,829,000 4,829,000 4,828,320
1AM RS E 4,829,000 4,829,000 4,828,320
ALEE = 4,828,320
2. AA4E) 200,000 200,000 200,000
1. 2H3kw) 2} o) 200,000 200,000 200,000
Ak 2o = 200,000
3718554 1,478,000 1,478,000 1,476,080
101244 1,207,000 1,207,000 1,206,080
o] A< = 1,206,080
2. 7| e A B 549 271,000 271,000 270,000
et &5y = 270,000
3. 71849 38,696,000 53,850,730 53,850,780
1.9zl ds 38,696,000 53,850,730 53,850,780
1.AAY o= 38,105,000 38,105,000 38,105,490
1L.eAAd el F 38,105,000 38,105,000 38,105,490
FEAAL AT = 38,105,490
2. B FFAE2HY 591,000 591,000 590,560
1. HEZFAE 2N 591,000 591,000 590,560
Ao g A LA = 590, 560
3019w 0 15,154,730 15,154,730
1.0l AL ] 0 15,154,730 15,154,730
o] A A} H] = 15,154,730
A < 8t A) 1,298,968,000| 1,314,122,730| 1,314,134,610
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